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Q4) For the database/regression example, we have

TFIDF Matrix: (for the d-t matrix)

2.5300
3.3700
0.1300
0.6300
4.5300
0.2100
0
0.3200
0.1100
0.6300

14.5600 4.6000
6.9300 2.5540
11.0900 2.5500
4.8500 1.0200
21.4900 10.2200

0 0

0 0.5100
0
0

0
0
0 0

12.4700
22.1800
15.2500
23.5600
11.7800

0 20
1.1000

0

0
1.0700

0
0
0
0
0
2.4900
4.2800
1.4300

9.6300
1.4300

1.3

>> [U S V]= svd (TFIDFmatrix )

L=

-0.0312
-0.0106

-0.0063
-0.0029
-0.0203
- 0.3587
-0.4296
-0.3027
-0.6632
-0.3921

S=

45.9164

0 32.1346

o000 00O0

V=

-0.0153
-0.0229
-0.0134
-0.8464
-0.2210
-0.4836

0.4807 0.0831
0.2449 -0.0154
0.3451 -0.0220
0.1530 -0.0090
0.7517 -0.0545
-0.0108 0.2195
-0.0234 -0.6934
-0.0188 -0.3974
-0.0201 0.2094

0.1714 -0.2121
-0.2083 0.3813
0.1507 -0.7235
0.0592 -0.2076
-0.1209 0.3857
0.2337 0.0501
0.0610 0.0146
0.3861 0.0928
-0.6468

700
0
0
0
0

11.0900

0
900

17.3300
15.9400

0.2958
0.7720
0.0051
0.2290
-0.4889
-0.0459
-0.0548
0.1402

-0.3434
0.0953
0.0172 0.1089
0.6468 0.3988

0.0470 0.1577
0.3319 0.0427
0.2975 -0.4685
-0.4722 0.5838

-0.4567
0.0172

0.4672 -0.2335

-0.3784 0.0481
-0.5503 0.1382

0.5256 0.1545
-0.0291 0.0365
-0.1920 -0.7842
-0.0348 0.1341
0.0813 -0.0477

.0.2010 -0.0069 -0.1699 0.1123 0.1070 0.0651

.0.0085 05086 0.5106 0.2062 -0.0154 0.0396 -0.1434 -0.0505 0.5093

0
0
0 15.8521

0

[efeolellelsla ]

0.1734 0.0104
0.9155 -0.0224

0.3592 -0.0399 -0.1087 0.5682
-0.0464 -0.4907 0.2010 0.0174

0.0223 -0.0203
0.0123 0.8698

o000 O

-0.0725 0.7267
0.0888 -0.3563

-0.9627
0.0891

-0.1467
0.0146

Values for taking the top-2 dimensions:

-1.4346
-0.4873

15.4459
7.8706

0.6605
0.1613
-0.7311
0.0032
0.0451
-0.0344




-0.2898 11.0911

-0.1342 4.9157
-0.9344 24,1541
-16.4712 -0.3505
-19.7249 -0.7509
-13.9002 -0.6034
-30.4513 -0.6467
-18.005 -0.2096

Plot for the above example:

Dimension 2

Dimension 1

LS‘T S Sc_aié‘, ge_mgfh've” Sy oM .k_/LQ\‘f\_G‘d,

Hy idts celghts ot {oft ta (B0 T+
eA‘%m J eekess d\dﬂ%é’—-





